Roald Dahl Word Problems

Mr Wonka send his wonka bars to sweet shops in packs of 20.
There are 14 in his pack. How many more bars does he need to put
in?

Matilda takes 18 books from the library. She reads lots in one
night. The next day there are 9 left. How many did she read?

Grandpa Joe owns 5 walking sticks. He buys 2 more. How many
walking sticks does he own now?

The BFG catches 8 dreams one day and 6 dreams the next day.
How many dreams has he caught?

Fantastic Mr Fox catches 20 chickens. His family eat 5. How many
are left?

George mixes two bottles of his marvellous medicine with 8 litres in
each. How much medicine does he mix?

Violet has a pack of bubblegum with 20 pieces in. She chews 16.
How many pieces does he have left?

The enormous crocodile has 10 teeth on his top jaw and 10 teeth
on his bottom jaw. How many teeth does he have altogether?

Mr Twit has 16 bits of food stuck in his beard. He nibbles on 9 bits.
How many are left?

The BFG makes 8 snozzcumber sandwiches and eats some for his
tea. There are 3 left. How many did he eat?
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Roald Dahl Word Problems

Mr Wonka send his wonka bars to sweet shops in packs of 20.
There are 14 in his pack. How many more bars does he need to put
in? 6 bars

Matilda takes 18 books from the library. She reads lots in one
night. The next day there are 9 left. How many did she read? 9
books

Grandpa Joe owns 5 walking sticks. He buys 2 more. How many
walking sticks does he own now? 7 walking sticks

The BFG catches 8 dreams one day and 6 dreams the next day.
How many dreams has he caught? 14 dreams

Fantastic Mr Fox catches 20 chickens. His family eat 5. How many
are left? 15 chickens

George mixes two bottles of his marvellous medicine with 8 litres in
each. How much medicine does he mix? 16 litres

Violet has a pack of bubblegum with 20 pieces in. She chews 16.
How many pieces does he have left? 4 pieces

The enormous crocodile has 10 teeth on his top jaw and 10 teeth
on his bottom jaw. How many teeth does he have altogether? 20
teeth

Mr Twit has 16 bits of food stuck in his beard. He nibbles on 9 bits.
How many are left? 7 bits

The BFG makes 8 snozzcumber sandwiches and eats some for his
tea. There are 3 left. How many did he eat? 5 sandwiches
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